20160 10 80O
opoooo
kotaro@math.titech.ac.jp

oOoo0oboo BOOODO 6

gooo

00010 400000000120 0000000000001,000000000000000

10 20000000000000000000000PROGOOODODOOODOODOUOOUODODODDODODDODODOODOD
goooooo0ooo0oooOoO0oooO0ooOO0oOO0OOO0O0O0DOO0OO0OO0OO00OO0O0D0O0OO0OO0O0O000D000 nttp:
//www2.gakumu.titech.ac. jp/kyoumu/kaikaku/doc/2015prog. pdf
10260000000000000001400000000000000000O0DODOOOOOOO

ggooobod

0000400090002 =e=11+4.. 52 =e=14+%+...

00000 270000000 7000000000077 =0000000 1.19

00000 290000000500000000 =0000

00000 330000 (3.4) 00 f(a+ h) = f(a) + df(a)h + th Hess f(a)h + Rs(h) =

fla+h) = f(a) +df(a)h + %th Hess f(a)h + R3(h),

0000 s50000000000000000D0O00D0DOO0D0OO0O0OOO0O0DOOO0OO0O0O0O0O0DOO00O0O0
goboooooooOoOO0OO0OO0OO0O0O0O00000000000O0O0O000DO0O00O0O0O0O0O000000000

ugoobooad

0ooo000o00DoD0ooOo0ooooooo 00000000 000000000000000000000000000000000000000 4000000000000000000000
000007 00007 00000000000000000000000000000000000000000000000
00000000000000000000000000000000000000 0oooooooo ooog?
oooooad 00000000 000000000000000000000000000000000
0000000000000k 0 b (00000000000000000000000000000000000000000000000000MM 00000000 Serry. 0000000000
goo000O00D0OO000000OO0000000D0DO0000DOO00000OO0000000DOOO0000n

00000000 oooooooooo/o0000/0007
oooo 0oooooooOo oooo

goooo

oo

[z (z#0)

1 ( 0) Ozxz=+400000 +00000000D0O0OOCOOOOOY?
T =

-

0000 0U000oO0oO0o00o00oOooOoO0OOd? o0O0OoOOOoOOOoooOr

ooo

oo

ooo

ooo

20000000000000y00000DO0ODODOOO0O00O0OODDODO0x=000000000ODODOOOO
0000000000000000 »=0000000000000000COOO? 0OOOOOOOOOO
0000000o0?0000000000000000000 f(r,k) 0 z=a0000000000
20000 f(z,y) DODDOODOOOO fo(z,y), fy(z,y) O folz,y) = fy(z,y) =0000000000000
gooooooog (p(h,k):AhQ—FQBhk—FCkQDDDDDDDDDDDDDDDDDDDD ooooooo
gopboo P33000 314000 200 2000000000000 00D0C000O0DODOOOODOOODO
00 00O0OooooopooOoOoOoOoOOoCOOO000O0@OopOOoOOoOODOCOC2000000000O0O0DO
goooooo 10gooooooo0ooooooooooooooooooooooooobooooooDoO
00312000008 (a,b) = %(a,b) =000 Q(h,k)DOOOODQ(AK) >00000000for any
(h,k)#(0,0) 000...00000000000OOOOOOOOOOOOOOODOOODOOODOOOOOD
goboooooooooooooboooboooboooooboobooobooboooDoobbobOoOoboOoDboboOooDoon
000 0000O00O0O00O00O0O0O0DO0O0U0OODbO0OOODOOO (hk)=(0,0)J000D0O0O0ODDOOO


http://www2.gakumu.titech.ac.jp/kyoumu/kaikaku/doc/2015prog.pdf
http://www2.gakumu.titech.ac.jp/kyoumu/kaikaku/doc/2015prog.pdf

oooooooBOOOOG6 2

000 00000 FatQOD QOD QUDOOO 300000000 QOODD AC-B?2<000000000
000 0000000D00D000D00?0QO0000000000000000 AC—-B?2<00000.

000 0D03500000A,COD0D00D0000D000DO0O0D0OO0DO0OD0O0DOO0 BOOOOOOOOO
00000D000000D000000000 0000BOODOODOOOOOO

000 00350 B0 CO0000000000000O00O0OOOOOOOO? OOO0OOBO AOOOOOOOA
0000000000000000000000000000000CO00000 10500000000

000 00350B0O CO00000000000000O000O0O0D0OOOOOOOO0DO? 00000000

ooo TwhrDDDDn:1DDfm+h%—ﬂ@:jK@h+Rﬂm,EgﬁgﬁzﬂﬂﬂDDDDDDDm(DD
000 f(a)0000)#00000R(h)000000000000000000000 (B) f'(a)#0= f
0 «0000000000000000000000000000000O0

0000 0D000000000000MO0MO00000000000000

oood DDDDD30DDDD(3.2)D lim MDD\[DDDDDDDDDDDDDDDDDD
(h,k)—=(0,0) v/ h2 + k2
0000 O (0,000 (hk) DOODODOO0D (a,0) 0 (a+hb+k) 0000  lim (k)0 200
’ ’ ’ ’ (hk)=(0,0)  /h2 + k2

000 O0O0O0O0O0o290000 Rg(h,k)DDDDDDDDDDDDDDDDDDDDDDDDD 2000000000
OO000o0ooooooooooon

o000 ooOoooo F(t)[] 1000000000000 00D0o0oooOoobO0oO00000000o0oooooooooDm
R3(hak):é(fmz(*)h3+3fzzy(*)h2k+3fzyy(*)hk2+fyyy(*)k3)» (¥*) =(a+6h,b+0k) (0 <6 <1).
20000000000

_ - . m 8mf mym—l . Rn+1(h’7 k) _
fathbdtk)=3_ (Z (l) Ozl dym—1 (a, A"k ) + Buia(h, k), (h,k%lin(O,o) NS = 0

m=0 \1=0

n+1 n+1

1 n+1 ot el

(mﬂm¢ywn+w§:<l >%MW£Zm+%w+%m%+lﬁ m<0<m>
T 1=0

000 2000000000000-,=300000000000000000(k,k)— (0,00000 Zalb g

godoooood oooooooood
oo (h,k)[IZD[ID Q(h,k’)DDDDDDDDDDDDDDDDAC—32DI:ID AO0OO0OODOODOOOODOO
AO00O0OO0 COOO0OOO0OO0OOOO0OODOOODOOOOObOOODO
0000 O0O0O0OO0O0OO0AC-B?2>000000A0000 CO000000000O0OOOOOOO AC>B2§0D
000 00000O0OO00000000 0OOO0O0O000000bobooO0000000ooDooooo0oooo 60O
oob0 200000000000000 ay; 0 ajiDEIDEIDDDDDDDDDDDDDDDDDDDDDDDD[II]?

n
0000 00000340000 0000 &y :=3(asy+a;) 0000 @(@1,...,00) = Y Gy@izy, dij = aji.
i,j=1

000 0000000000000 0000000000000 ’

000 0000000000000000000000000000000 000000000000000000
0000000000000P=QO00PO00000 QUOOOOODOOOO

000 0000000000000 0 000000000 e00000000000007

0000 0000000000 00000007 0.10000000000007

000 log0 M DO0000D0000D0000000? 0000 log,, O log,log, 0 In000000000000
000000000007 O0000000000000000000000000000 log,In0 200000
00000000000000000 m0000000000 log00000000000000

000 00000000000 p3200031300A44000C#£00000000000000007

0000 0000000000000000000

000 00000000D0000000MO00 “000”00000000000000 00000000000
000000000000000000000000000? 00000000000000000000007

000 00000000 =0000 000000000007 (1)00000000000 (2)000000000
(3y 00000000000 000000000000000000000000007?

000 00000000000000000? 00D00000O00000¢?



